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2A:

B ol 2o
el Qe us ¥ A2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
QI HIAMHIIAIZ |XI2 2,040 960 1,080
= 162
= 1,878
201 er2 3| 2,040 960 1,080
= 162
[Ea 1,878
01 AtR2t2|HI 2,040 960 1,080
ougs QUi i8S &3
540,000 *14] 540
== 162
[Ea 378
o HUAE HldE+g &R
300,000 *1H 300
O HI&HUAlE e, 758 &X
1,200,0002 %14 1,200
el W23 20,802 20,59 207
= 2,701
= 2,131
[Ea 16,970
201 Zet=3h] 10,083 9,206 877
= 1,051
= 310
= 8,722
01 At2teltl 10,083 9,206 877
Ol e AOIH ns FHI(2X)
1,474,0002 %12 1,474
= 442
= 310
= 722
Olts=? A8t 23|
609,000 %12 609
= 609
Oyl & AOIH W= ZHI(XHH)
8,000,000& 14 8,000
301 EtE NS 9,099 9,769 A670
= 1,650
= 1,335
Ea 6,114
11 #AIAMHIXIZ S 4,674 4,969 A295
OJl=XIgl, Scltiy d2usid
871,000& 871
= 261
= 183
Ea 427
Oy el du= 613,000& 613
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SA CHET
B ol 2o
BHel Qe s & Ald2e] (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 840
401 AIEHIZ SR THYI 70,000 0 70,000
== 21,000
[Ea 49,000
01 Al&HI 70,000 0 70,000
Ok% QAALAL DAL
70,000,000 70,000
= 21,000
= 49,000
b2 =4 A& 2el 120,000 82,000 38,000
o2 =4 A& 120,000 82,000 38,000
403 MR EHHSAHE01H 120,000 80,000 40,000
03 dHlzZ=48 XN EEx 120,000 80,000 40,000
OXAIRNA L (L2 DREH, UL
&, SZSH=AI 120,000,000 * 14! 120,000
el 2te] 38,045 91,042 A52,997
AR =232 38,045 91,042 A\52,997
301 LEIE NS 38,045 91,042 A52,997
0 AR=22a= 38,045 91,042 ~B2,997
OA =83 24= 38,045
—Jl2= 786,950 «3H x 12& 28,331
—S4Hl 8,000 x3H*22 x 12 6,336
—uwSH| 3,810 x3& 22« 123 3,018
— =l 300,000 *1& 300
—282 20,0002+3 60
Blattiel &3 17,150 14,400 2,750
SNgis S tlalibled 15,950 13,200 2,750
201 er=2 3| 16,950 13,200 2,750
01 AtR2t2|HI 15,950 13,200 2,750
OSXgs I g4 & 2H4 5,700
—DA(EA A
8,000 x100H x22]«3 4,800
— 2t 3,0003 %1002 +33] 900
O%& 2d =58 7 3,000,000 12 3,000
OER2d I g4 & 24 2,850
—DAI(EAL A
8,0002 x50 »23|*x3& 2,400
— 2t 3,000& *50 2 »38] 450
O&d =3 ol 2,200,000 12 2,200
Ostged 82 & SELANEAER 2828
2,200,000& %12 2,200
SEREs & NE=2R 29 1,200 1,200 0
201 Ler23 | 1,200 1,200 0




SA: hE At

B ol 2o
s HIYOHE & EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,200 1,200 0
OsSggfEs & NH2F2Y
300,000 *43] 1,200
Mol & e ol 24,144,288 13,484,993 10,669,295
= 35,500
[ 4,484,000
= 7,800,384
= 11,824,404
THOHALMCHH| & &&= K 9,914,950 2,755,793 7,189,157
= 2,500
= 4,484,000
= 1,550,384
o 3,878,066
|EA2U X2 30,000 29,450 550
301 EetE NS 30,000 29,450 550
05 oIS AHAIE ZH 30,000 29,450 550
o284l gdst N
30,000,000 30,000
S=0] HEAIE EXIAMY 299,945 226,265 73,680
= 1,632
= 298,313
101 @124H| 270,293 192,325 77,968
01 &2 39,424 39,424 0
OOISE 250/ HIADS SSH(LH)
11,0002 x2E 282 +8A| 282 Al 39,424
04 JIZtN2Z2 XS 2+ 230,869 152,421 78,448
ONEa =2=0| d2eIed 230,869
—JlEs 84,4503 x30EH ~40! 101,340
-5+ 84,4502 x30H 8 20,268
— %X 84,4502 x30 & 2 5,067
—=4Hl, WS 6,000& x30& 57 10,260
gLy 135,680214302 12 4,071
R ELESs
135,6803 x30E « 162 65,127
—4UEE= 206, 131,800& *12% 24,736
201 ger= 3| 28,572 32,740 AN4,168
== 1,632
o 26,940
01 At22t2l] 28,440 32,476 24,036
O2s0| ™AL 4XI(BX)
388,57 1& %1404 2 5,440
= 1,632
= 3,808




2A:

QRS AN =t

S Mol & T ol
ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Os=0Itd+x 22 A=
3,000,000 *14] 3,000
O==0l AELA IHI2Y
200,000 *30H 6,000
O2s0| ™A AXI(XHA)
1,000,000 * 1490 2 14,000
2 IZ2YH| 132 264 A1
ORHHIASEAAY SHR3
11,0003 1 A+ 122 132
202 048l 1,080 1,200 2120
01 2L AL 1,080 1,200 A120
O2=0| g pe] YLET
18,0002 x2H 5L 6 1,080
HE2SES 64,160 79,480 15,320
& 4,002
= 60,158
201 er23 | 18,800 20,900 22,100
01 At2teltl 18,800 20,900 22,100
OotiEstzs 822 MH
200,0002 x202] 4,000
Octd eI H&EA & BILNE M=
40,0002 80 3,200
Octd2e|ARs K M= B+
g 70,0002 * 102 +52] 3,500
OdsHNEZ UAMEI BHE
200,000 x4 2«83 6,400
OdsHNEH g2= MA
1,700,0002 %12 1,700
202 04| 9,360 8,580 780
01 =LHO LI 9,360 8,580 780
OOIEE YDEA (Z0H)
130,000 x6& * 122 9,360
307 el2tol & 36,000 50,000 214,000
= 4,002
Ea 31,998
06 28= 36,000 50,000 214,000
OZ2UHEE S (ZHIFIH 22,660 &)
36,000,000 *13] 36,000
== 4,002
[Ea 31,998
HIE etdet==d 14,410 12,578 1,832
= 2,500
== 1,000
o 10,910
201 223 12,810 10,978 1,832
= 2,500




2A:

QRS AN =t

S Mol & T ol
ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,000
s 9,310
01 At2tltl 12,810 10,978 1,832
Octdet=2d 5,000,000& *12] 5,000
= 2,500
< 1,000
[Ea 1,500
Os7&Hl gxz 500,000 ~4CH 2,000
O+ M& 70,0002 * 157K 1,050
oo e 2 50,0003 *20K 1,000
Oetdgt=gd I SAMS
8,0002 80 *23] 1,280
OorEsREE &IIX 2HARS
3,000& +80 »23] 480
OZatEHl Xz 2,000,000 2,000
301 Eet2 NS 1,600 1,600
11 #AIAHIXIE S 1,600 1,600
oN-ts ddet=2a AL AHl2d
8,000 200 1,600
OHMEE Br20{el RAAMY 30,000 30,000 0
= 9,000
= 21,000
401 AIEHIZ SO 30,000 30,000 0
= 9,000
Ea 21,000
01 AlZH| 30,000 30,000 0
OordE Breel MY
30,000,000 *1IH 2 30,000
== 9,000
o 21,000
83 F2ug T 0TV ZXIA 1,200 26,200 /25,000
201 er23| 1,200 1,200 0
02 S5=2g4l 1,200 1,200 0
OXtatogtE v &J| - Sdl 23
25,0002 #4CH* 122 1,200
KoK AFE CHBI 224,59% 550,020 N325,425
=S 21,150
s 203,445
201 et 3| 132,875 140,779 AT,904
== 2,550
[Ea 130,325
01 AtR2t2lt] 29,840 28,867 973
SHAAE W) B2 A
8,500,000 * 14 8,500




2A:

QRS AN =t

S Mol & T ol
ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,550
s 5,950
OXMSMt H=lSH=E M
20,0002 x40 800
OXHTHl 222 MIZ
2,400,000 *14] 2,400
OXATHHUS F=&lH|
6,400,000 * 14 6,400
OMNHEerE It AR A&
100,000 6 *53] 3,000
OO0IME! F=HAIZ(AHI0IH) |X 2=
6,000,000 * 14 6,000
OMtSetaas H157 ME
150,000& *22] 300
Osa&EH 4258 +#Y 800,000 14 800
OMUEEAEA 228 72
800,000 *14] 800
OXM S2 Al HEFAME HA22A
ZAHS 3,0003 8 ~3be 840
2 35234l 103,035 111,912 N8,877
OMSetaad SHLs
250,000 x 122 3,000
OWZ2Ad &= 850,000+ 12 10,200
OUZ 2N StIR= 750,000 * 122 9,000
OMtSetaad dgy
200,000& *152 3,000
OMeHHEE & ZREANAE T2l
800,000 *500H 2 40,000
OMtESEaEA AMAE SN2
5,000,000 *14 5,000
OXNEIIEE AFI| FANE+
882,500& 122 10,590
Ost=g gl SE33 Al
1,000,000& 1,000
ONMHZAIZ CCTV 3l SHR=
100,000& x10JH 2% 123 12,000
ONtE IV RAE+5
92,446,000& 10% 9,245
202 04dl 3,120 3,120
01 =LHNHI 3,120 3,120
OTBHIHEY ARER(S)
130,000 x2& * 12 3,120
203 =] 2,000 2,500 A500
03 A=A 2= 2,000 2,500 A500
OLIFSPYIEERESSIE L)
2,000,000& 2,000
206 MH=Hl 8,000 8,000 0




2A:

QRS AN =t

S Mol & T ol
ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IEEL 8,000 8,000 0
OTHLOIEA & ST 72
8,000,000& *14] 8,000
301 EtE2 NS 40,000 40,000 0
=S 12,000
s 28,000
14 0Bt 2as 40,000 40,000 0
Sol2EMY HEEERS
40,000,000& *14] 40,000
< 12,000
= 28,000
307 elztol & 28,600 28,600 0
= 3,600
Ea 25,000
02 2IZHBYAIHE A 28,600 28,600 0
OXt=g M o2
12,000,000& * 14! 12,000
== 3,600
o 8,400
OXtsg e adst Al 16,600
— NS Zetus
500,000& *4= 7| 2,000
—SSX+ HEEs
20,0002 x40 * 122 9,600
— 2SN, AEES Y
5,000,000 14 5,000
401 AlZHIZ SO 10,000 306,000 296,000
= 3,000
Ea 7,000
01 A28l 10,000 306,000 296,000
OLHEIE IS BlafAsSHEX
10,000,000& * 14! 10,000
== 3,000
o 7,000
MHtat et R Xl 32,640 34,800 A2,160
201 el 29,040 28,860 180
01 At2teltl 29,040 28,860 180
OTMEararets L=y 29,040
—YE Ly 60,0002 +1192 7,140
—sNay 60,00021+3652! 21,900
202 04| 3,600 5,940 A2,340
01 =LHOLI 3,600 5,940 22,340
Olft2te| R=T(SH)
300,000& x1H~12& 3,600
THoll I & X2 HHI(2X)-THoH ALE CHEI (81 3) 4,768,000 920,000 3,848,000




SA CHET
B TH L T Ol
ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,384,000
=S 953,600
s 1,430,400
401 Al HIZ R 0HbI 4,768,000 920,000 3,848,000
[ 2,384,000
= 953,600
o 1,430,400
01 AlZH| 4,795,127 914,204 3,840,923
O&=X7 SSAMANSUASXN S FHISA
4,768,000,0002%99.73% 4,785,127
[ 2,384,000
= 953,600
Ea 1,417,527
03 AIZSTHYI 12,873 5.7% 7,077
O&sX7 SSANSUAS NS HHISA
4,768,000,000& 0. 26998% 12,873
THOHRIE XIS HHI (22 )-THOH AFE CHEI (25 1,800,000 472,000 1,328,000
s 900,000
s 360,000
s 540,000
401 Al HIZL R 0HbI 1,800,000 472,000 1,328,000
[ 900,000
= 360,000
o 540,000
01 AlZ2H| 1,793,520 468,602 1,324,918
Ost MHAMHAE HEXF EBIA
1,800,000,000& %99.64% 1,793,520
[ 900,000
= 360,000
Ea 533,520
03 A& S THYI 6,480 3,398 3,082
Ol AHAMHRE X7 ZHIAIS
1,800,000, 000& +0.36% 6.480
HHASHKAFHI(EX) - ADESAAHF(40HH) 1,400,000 350,000 1,050,000
= 700,000
= 700,000
401 AIZHIZL R0 1,400,000 350,000 1,050,000
= 700,000
Ea 700,000
01 A28l 1,400,000 350,000 1,050,000
OADIE HSZRIAAE 2= A (AGHA)
1,400,000,000& *14] 1,400,000
[ 700,000
o 700,000




2A:

X XH -
o=

QRS AN =t
Kol & THEE Ol
al

el THSHAIRTHH 2 AERX (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
THoll 21 & X2 HHI(22)-THoH AFE CHEI (22 4) 1,000,000 0 1,000,000
= 500,000
== 200,000
[Ea 300,000
401 AlEHIZL SO 1,000,000 0 1,000,000
= 500,000
=S 200,000
s 300,000
01 AlZ28| 993,700 0 993,700
OZH MMl ?E WX EHIAY
1,000,000,0002 %99.37% 993,700
= 500,000
= 200,000
o 293,700
03 Al 20HHI 6,300 0 6,300
OZH Ao ?E WX EHIAY
1,000,000, 000& +0.63% 6,300
Mo ef DIZHl 4A4d HISA 250,000 250,000
401 AlEHIZ R0 250,000 250,000
01 Al&H| 250,000 250,000
OMoiFe DIl AN UISAE
250,000,000 * 14 250,000
=X Moig X+ 3ol 750,000 620,000 130,000
== 225,000
o 525,000
ol A & X+ &H| 750,000 620,000 130,000
< 225,000
= 525,000
401 AlEHIZL S0 750,000 620,000 130,000
= 225,000
= 525,000
01 Al&H| 750,000 620,000 130,000
OA&HE THOH?IE SHAIE EHIA
450,000,000 * 14 450,000
= 135,000
o 315,000
OB =& Moll?ld LMAIE EHIA
300,000,000& *14] 300,000
& 90,000
= 210,000
A A5t HH| 5,580,776 5,570,200 19,424
AOHE A (& )-A0tE FHIAN (M EANY) 4,450,776 2,920,200 1,530,576
401 A& HIX R0 4,450,776 2,920,200 1,530,576
01 A28l 4,430,047 2,905,188 1,524,859




SA: M Tt
H2H: JHoll & AHLE o
(s BN o P ko) ESREe] S eSfa] (St &)
K- BB S(BI) - HISAY - BYS Ofl by G o MimE=EY
ORI Aot HHIAFY (X&)
1, 174,000,000 *99.64% 1,169,774
O0r= Aold HUIAIE (& &
676,776,000 *x99.37% 672,513
O&= Aold HHIAI (& EH
1,800,000, 0002 *99.64% 1,793,520
Oualst Aot HUIAIH (XS
400,000,000 *99. 28% 397,120
OJhz= A0HA HUIAIS (& &)
400,000,000 %99. 28% 397,120
03 AlE 2 0HHI 20,729 15,012 5,717
OOXl 2otd HHIAIS (M EH
1,174,000, 0002 *0. 359%% 4,226
O0FR A5H FHIAR (K2
676,776,000 *0.6298% 4,263
OX&= Aold HHIAIY (M EH
1,800,000,0002*0. 36% 6,480
O&alst Aol AHIAIE (& &
400,000,000&*0.72% 2,880
Ot Aold HHIAF (& &)
400,000,000 *0.72% 2,880
A0tE 2e 1,000,000 1,900,000 900,000
401 AIEHI L2 0HY] 1,000,000 1,900,000 900,000
01 Al&H| 994,015 1,895,590 A1,575
OA0HE FAE AFY
500,000,000& *99. 37% 496,850
O46HE I8 H HHIAFY
50,000,000& 1A 50,000
OA6Hd EELAY 450,000,000 *99. 37% 447 165
03 Al 20HYI 5,985 4,410 1,575
OA0HE SAE2+=AS
500,000,000 *0.63% 3,150
OA6td =LAY 450,000,000 *0.63% 2,835
LOIEAIE 2XS BAa=2 X2 100,000 50,000 50,000
401 A& HILE0HY] 100,000 50,000 50,000
01 Al&HI 100,000 50,000 50,000
OASIE AN DIEEX 24
100,000,000 * 14! 100,000
MAZXOI A 7,869,262 4,539,000 3,330,262
= 33,000
& 6,025,000
iy 1,811,262
ot MY SAS 710,000 1,830,000 A1,120,000
== 355,000
iy 355,000
401 AIEHI X201 710,000 1,830,000 A 1,120,000




2A:

QRS AN =t

A2 THoH & TH&H ot
s MAIRC ot& 3| EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 355,000
= 355,000
01 Al&Hl 705,527 1,830,000 A1,124,473
OotE MY SN2
710,000,000& %99.37% 705,527
& 355,000
i 350,527
03 A& 2 CHYI 4,473 0 4,473
Oct&E N SXE=
710,000, 000& *0.63% 4,473
KIYGta 2el 1,369,000 1,549,000 180,000
201 Let23| 49,000 49,000 0
01 ArR2eltl 38,500 38,500 0
Octd 222+ &l dx=
700,000 1171 S H 504 38,500
02 33244l 10,500 10,500 0
OIsSE M3 (48, A, TeHA(2
H), SE@H), STBH), 22&)
25,0003 * 11 %123 3,300
OLIotE A8 M) |a(F2XY, AXl3
&) 110,000& *20 122 2,640
Ot M1 (8&X2(20M), 2Z(21))
30,0002 #4741+ 122 1,440
Oli+E2 SM23(2Y)
260,000 x 101+ 12& 3,120
401 A& HILS0HY| 1,320,000 1,500,000 180,000
01 Al&HI 1,313,970 1,491,990 A178,020
OXgota 42 B=AtE
70,000,000 14 70,000
OXgotd RAE+ AHS
400,000,000 *99.28% 397,120
OXgstd JIdM ZHIALS
50,000, 00024+ 14] 150,000
OXIota EaAe
500,000,000 *99.37% 496,850
ORIt &= 2t ZEAMS
200,000,000 * 14 200,000
03 A& 2 CHYI 6,030 8,010 21,980
ONYLBHE SXL4 Al
400,000,000&*0.72% 2,880
OXIYsHa 4 Al
500,000,000& *0.63% 3,150
olEAIY EXS B4z K= 70,000 100,000 230,000
401 A& B2 20iY| 70,000 100,000 230,000
01 AlEHI 70,000 100,000 A30,000
OctEEHIAIG 028X 24
70,000,000& * 14! 70,000




2A:

QRS AN =t

S Mol & T ol
s MAIRC ot& 3| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
XSt A - S (HEAIY) 3,509,450 500,000 3,009,450
= 3,500,000
= 9,450
401 AlZHIZ S 0HbI 3,500,450 500,000 3,009,450
= 3,500,000
[Ea 9,450
01 A28l 3,500,000 496,400 3,003,600
O SH(=SKIT)SHETHOHOIL AL (B &)
3,500,000,000& *14] 3,500,000
== 3,500,000
03 AIZ S THYI 9,450 3,600 5,850
O SH(=SKIT)SHETHOH I LA (B &)
9,450,000 *14] 9,450
NLotE | - H2SHE(MEALY) 2,177,812 500,000 1,677,812
< 2,170,000
= 7,812
401 Al HIZL 01| 2,177,812 500,000 1,677,812
= 2,170,000
= 7,812
01 Al&H| 2,170,000 496,400 1,673,600
OWSSH(WR2EXT) XI5t FHIAR(
HEh) 2,170,000,000& * 14 2,170,000
S 2,170,000
03 Al 2 CHYI 7,812 3,600 4,212
OUSSH(WSSNT) XY5HE FHIA(
HEh) 7,812,000 14] 7,812
=Itotd =X 2= 33,000 60,000 A27,000
= 33,000
401 Al HIZ 2018 33,000 60,000 227,000
= 33,000
01 Al&HI 33,000 60,000 227,000
O=Jlotd FAE+=At
33,000,000 * 14 33,000
= 33,000
et & sS85+ 20,000 0 20,000
e & S5+ 20,000 0 20,000
301 22N = 20,000 0 20,000
03 AR 2H A5 S(XILH) 20,000 0 20,000
Oxeaal IahF0 N2
20,000,000& * 14| 20,000
TR 2He| 39,300 0 39,300
SHHHHMLUS 39,300 0 39,300
201 fer23| 39,300 0 39,300
01 AtR2t2lHI 34,300 0 34,300
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